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Who had written the book ‘Das Capital’?

Asiatic lions are found in the state where Rahul lives. Rahul belongs to
which state?

How many seats are reserved for Schedule Tribes in the Lok Sabha?
Seema is a resident of the least populated state of India. Mention the state
to which Seema belongs.

What was ‘tithe’?

Ramesh lives in Delhi. How many calories per day are required to him?
Which river is known as the “sorrow of Bihar”?

Differentiate between the Himalayan and Peninsular rivers.

‘The seeds of Second World War were sown in the treaty of Versailles.’
Explain the statement.

. ‘All the decisions are delayed in democratic system’. Do you agree? Give

reasons.

What were the meanings of French Revolution for women?

What do you understand by Bloody Sunday? Explain.

Read the following statements and state the types of unemployment:

(a) Ram has studied up to Ph.D. but he is not yet employed.

(b) Prakash lives in a village and remains unemployed for three-four
months in a year.

(c) Five members of Roshni’s family are involved in farming. If two of them
do not work, there will be no effect on total production.

‘Had there not been Green Revolution, the food security in India would not

have been ensured’. Do you agree? Support your answer with arguments.
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‘Preamble provides the philosophy of the constitution’. Explain.

Which house is more powerful between Lok Sabha and Rajya Sabha?
Explain your answer with arguments. (Any three).

How is migration responsible for growth in population? Explain.

Explain the concept of ‘social exclusion’ with reference to poverty.

Explain monsoonal rain and its features.

What were the main reasons for French Revolution? What legacy it left for
the world?

Which of the Fundamental Right is being violated in the following
circumstances:

(i) Rohan is 13 years old. He works at a Dhaba.

(ii) Akash has to sit on the last desk of his class because he is Dalit.

(iii) Ankit is 10 years old. He is not being enrolled in any school because

he has not attended any school.

(iv) Jai Prakash is stopped from constructing a house in Mumbai

because he was born in Haryana.

(v) Ekbal is forced to do begar by the powerful men in his village.

‘The current anti-poverty strategy of the government is based broadly on
two planks (i) promotion of economic growth and (ii) targeted anti-poverty
programmes’. How are these two related to each other? Explain.

Explain the role of cooperative societies in ensuring food security in India?
What were the main reasons for deforestation during colonial period?

OR

‘The colonial rule changed the life of pastoralists’. Do you agree? Support

your answer with arguments.

OR
Why were Indian farmers reluctant to grow opium? How were unwilling
farmers made to produce opium? Briefly explain.

You are entrusted to conduct election in a Lok Sabha constituency. You
have to perform following tasks for this. Arrange these tasks in sequence.
(i) Declaration of election (ii) Preparation of voters’ list

(iii) Election campaign (iv) Polling



(v) Scrutiny of Nominations (vi) Counting of votes
(vii) Re-polling (viii) Declaration of results
(ix) Withdrawal of nomination (x) Date of nomination

26. Locate the following on the world map:
(i) England
(ii) France
27. Locate the following on the political map of India:
(i) Chilka Lake
(ii) Western Ghats

(iii) Kaziranga National Park



